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] 100kN/MZ#8% % — -~ — —|(3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mERBZB -~ — — —
ThES 1.00 | 000 ~ 477 59.40 | #hlist | 000 ~ 477 1.76 9.41 zhst 1.00 | 500 ~ 5.00 59.40 | #hli4t | 500 ~ 500 | 1.76 9.41
) 100kN/m%#8%%| 1.00| 000 ~ 166 125.34 [3mZE# 2% - ~ — - —| 100kN/m%#8%%| 1.00 [11.45 ~ 19.86 125.34 [3mZ# x5 -~ - - -
ThES 100| 166 ~ 944 10000 | #hklst | 000 ~ 9.44 | 2.18 11.64 zhst 100 | 500 ~ 1145 100.00 | #hLlst | 5.00 ~ 19.86 | 2.18 11.64
3 100kN/m%#8%%| 1.00| 000 ~ 154 12351 [3mZE# x5 - ~ — - —| 100kN/m%#8% 5| 1.00 [11.10 ~ 17.75 12351 [3mZ# x5 -~ - - -
ZThLS 100 | 154 ~ 933 100.00 | #hklst | 000 ~ 9.33 | 2.21 11.84 zhst 1.00 | 500 ~ 11.10 100.00 | #hLlst | 5.00 ~ 17.75 | 2.21 11.84
4 100kN/m%#8%%| 1.00| 000 ~ 140 121.19 [3mZE# 25 - ~ — - —| 100kN/mM%#B% 5| 1.00 [11.31 ~ 17.46 121.19 [3mZ# 2% -~ - - -
ZThLS 100 140 ~ 9.18 10000 | #hkist | 000 ~ 9.18 | 2.19 1.7 zhst 100 | 500 ~ 11.31 100.00 | #hLlst | 5.00 ~ 1746 | 2.19 11.71
5 100kN/mMZ#8% % — -~ — —|(3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mZERBZB -~ — — —
ZThLS 1.00 | 000 ~ 452 56.33 | #hlist | 000 ~ 452 191 10.24 zhst 1.00 | 500 ~ 500 56.33 | #hLi4t | 500 ~ 500 | 1.91 10.24
100kN/mMZ#8% % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLS ~ Zhn s ~ ZThLS ~ Zn s ~
100kN/mMZ#8% % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLS ~ Zhn s ~ ZThLS ~ Zhn s ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ThLS ~ Zhn s ~ ThLS ~ Zhn s ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImERZS ~
ThLSH ~ Zhn s ~ ThLSH ~ Zhn s ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImERZS ~
ThLS ~ Zn s ~ ThLSH ~ Zhn s ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/mMZ#BZ % ~ ImERZS ~
ThLS ~ Zn s ~ ThLS ~ Zn st ~
100kN/mMZ#8% % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ThLS ~ Zn s ~ ThLS ~ Zn st ~
100kN/mMZ#8% % ~ ImERBZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
ThLS ~ Zn s ~ ThLS ~ Zn st ~
100kN/MZ#8% % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ThLS ~ Zn s ~ ThLSH ~ Zn s ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
TS ~ ZH LS ~ TS ~ ZH LS ~
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